! v |
AS*2=TR*4

i weath‘er

vane” |
|

horizontal |
lift \
LOADT

turn caused by bank (roll, ailéron)
rudder = ‘trim device’: |

- aileron yaw

- correct ROT ('step on ball)

roll out:
~ 1/2 BA before
final heading

BA[‘] 10\ 15 20 25 265 30 35 40 45 50 55 60
tan(BA) 0.18,0.27 0.36 0.47 0.5 0.58 0.70 0.841.0 1.19 1.43 1.73
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(not BA ) forward slip
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SKID SLIP OK with AS
cross-controlled
ﬂ SPIN ENTRY

ball opposite turn
(ball) tail outside turn

ball into turn
(ball) tail inside turn

ROT too fast for BA ROT too slow for BA
BA too small for ROT BA too large for ROT
correction: correction:
ROT (rudder) or ROT (rudder) or
BA (aileron) BA (aileron)

“step on ball”

“step on ball”
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